
a) RPS w = l = 1
<latexit sha1_base64="HPP8kpFkyT7GsZKT7KIzV32xVHA=">AAAB9XicbVDLTgJBEOzFF+IL9ehlIpjoheziQS4kJF484oNHAiuZHWZhwuzsZmZWQjb8hxcPGuPVf/Hm3zjAHhSspJNKVXe6u7yIM6Vt+9vKrK1vbG5lt3M7u3v7B/nDo6YKY0log4Q8lG0PK8qZoA3NNKftSFIceJy2vNH1zG89UalYKB70JKJugAeC+YxgbaRHfIHu6veoOK7yqlPs5Qt2yZ4DrRInJQVIUe/lv7r9kMQBFZpwrFTHsSPtJlhqRjid5rqxohEmIzygHUMFDqhyk/nVU3RmlD7yQ2lKaDRXf08kOFBqEnimM8B6qJa9mfif14m1X3ETJqJYU0EWi/yYIx2iWQSozyQlmk8MwUQycysiQywx0SaonAnBWX55lTTLJeeyVL4tF2qVNI4snMApnIMDV1CDG6hDAwhIeIZXeLPG1ov1bn0sWjNWOnMMf2B9/gCUNZCT</latexit>

b) RPS w = 2, l = 1
<latexit sha1_base64="O6L2AL+zHODxRBd2X9FOvzq0n9Y=">AAAB+nicbVDJTgJBEK3BDXEb9OilI5hoYsjMeJALCYkXj7iwJDAhPU0PdOhZ0t0jIcinePGgMV79Em/+jQ3MQcGXVPLyXlWq6nkxZ1JZ1reRWVvf2NzKbud2dvf2D8z8YUNGiSC0TiIeiZaHJeUspHXFFKetWFAceJw2veH1zG8+UiFZFD6ocUzdAPdD5jOClZa6Zt47R3e1e1QcVZwLxCt2sWsWrJI1B1oldkoKkKLWNb86vYgkAQ0V4VjKtm3Fyp1goRjhdJrrJJLGmAxxn7Y1DXFApTuZnz5Fp1rpIT8SukKF5urviQkOpBwHnu4MsBrIZW8m/ue1E+WX3QkL40TRkCwW+QlHKkKzHFCPCUoUH2uCiWD6VkQGWGCidFo5HYK9/PIqaTgl+7Lk3DqFajmNIwvHcAJnYMMVVOEGalAHAiN4hld4M56MF+Pd+Fi0Zox05gj+wPj8AUYfkWE=</latexit>

RPS w = 1, l = 2
<latexit sha1_base64="2RGeElleZ2bXs0tSdYVIzfLPdHQ=">AAAB9XicbVDLTgJBEOzFF+IL9ehlIph4MGR3PciFhMSLR3zwSGAls8MsTJid3czMSgjhP7x40Biv/os3/8YB9qBgJZ1UqrrT3eXHnClt299WZm19Y3Mru53b2d3bP8gfHjVUlEhC6yTikWz5WFHOBK1rpjltxZLi0Oe06Q+vZ37ziUrFIvGgxzH1QtwXLGAEayM93tXuUXFUcS4Qr7jFbr5gl+w50CpxUlKAFLVu/qvTi0gSUqEJx0q1HTvW3gRLzQin01wnUTTGZIj7tG2owCFV3mR+9RSdGaWHgkiaEhrN1d8TExwqNQ590xliPVDL3kz8z2snOih7EybiRFNBFouChCMdoVkEqMckJZqPDcFEMnMrIgMsMdEmqJwJwVl+eZU03JJzWXJv3UK1nMaRhRM4hXNw4AqqcAM1qAMBCc/wCm/WyHqx3q2PRWvGSmeO4Q+szx9RlpBn</latexit>

Imitation


